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1 (a) Text 1. Give two reasons why there may be more single mothers in Britain than other major
European countries.

[2]
(b) Fig. 1. Describe two trends in the data.
T ettt et e ee e e eeeeeaeeeeeeeeeeeeeeeaiteeeeeeaseeeeeaateteeeiaateeeeaanteeeeeaateeeeeaaraeeeeaarreeeeearreeeeaannees
2 et et eeeeeeeieeeeseeteeeesessesesesessseesesesteeesiistsseseiestesesessssseesesirteeesiastereeeinreeeeeanreeeeaanranaans
[4]
(c) Text 1. Suggest two reasons why mothers may choose to remain single.
1 SRS
72
[2]
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(d)* Discuss possible reasons why there are more lone parents with only one dependent child
than lone parents with two or more dependent children. [12]
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5

(a)* Text 2. Analyse possible reasons why abortion rates change according to age structure.

.............................................................................................................................................. [8]
(b) Text 2. Give two reasons why these figures should be accurate.
T et ettt et e oo eeeeeeeteeeeeeateeeeeeeateeeeeeetteeeeaaiteeeeeaaabeeeesaabeeeeeaaareteeaaaaeeeeaarreeeeaarraeeeeanres
2 et et eeee e eeeeeeeeeeeeeeaeseeeeeeaseeeeeaasteeeeeaatteeeeasteeeeaateeeeeaanteteeeannaeeeeeaneeeeeaanneeeeeannnaeeeeannneeens
[2]
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You have been asked to undertake some primary research into attitudes to abortion amongst a
cross-section of society.

(c) Identify an appropriate primary qualitative method you would use.

.............................................................................................................................................. [1]
(d)* Describe and justify the process you would use to carry out research into attitudes about

abortion.

.............................................................................................................................................. [9]
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3 (a) Text 3. Describe what is meant by ‘death rate’.

(b) Text 3. Explain two ways in which the trend for healthier lifestyles has reduced deaths from
heart disease.
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(c)* Discuss potential problems associated with the use of ‘experiments’ as a social research tool.
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4 (a) Fig. 2. Identify two patterns in the data.

(b)* Fig. 2. Explain reasons why boys are less likely to achieve basic standards in literacy than
girls at age 11.
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(c)* Analyse possible reasons why pupils who are eligible for free school meals may not achieve
in level 4 literacy and numeracy at key stage 2. [12]
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Question 5 begins on page 12
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5 (a) Text 4. Identify one possible reason for the increase in babies born to older mothers.

(c)* Text 5. Discuss ways service provision will need to change to meet the demands of this
increase in primary age pupils. [20]
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional answer space is required, you should use the following lined page(s). The question
number(s) must be clearly shown in the margins.
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